440
Inl,
‘ 2 ® ® ® ® ® ® 8
o
©
ﬂ: )
™~
<
3 482.6 N
3 465 N
(424) N
= 8‘
Sy Z
-]
—)
[ee]
q- .
b E
9 © © S
) e ) e ) ) y) sc) ) ) — ) —) [ —) —) [ —) —)
> 4 -]
4-7x10
5 | Label A-NP30 1 | Aluminum tape
4 | Card Rall M-DSRO02 1 | Alloy Steel (black) /A-SM25N (Cross countersunk head M2.5x6)
Card Cover M-DSC02 1 | PS (clear)
Card M-DSKO05 1 | 420x8.4 t0.2 1-16printed <Accessories >
3 | XLR Type CN XLR3-32-F77 8 | ITT CANNON /Cross pan head M2.5x8 SUS Cross recessed binding head M5x15 Ep-Fe/Zn/CM black 4 pcs.
2 | XLR Type CN XLR3-31-F77 8 | ITT CANNON /Cross pan head M2.5x8 SUS Plain Washers 5x12x1 Polycarbonate clear 4 pcs.
1 | Connector Panel | M—CP1UXOT1 1 | Alloy Steel (black) t1.6 TITLE  Pre-loaded XLR PJTN UNIT| SCALE [ TOL. DATE Ver 2.7 |MODEL DRW .No.
Connector Panael for @6
ITEM | DESCRIPTION P/N QTY. | REMARKS Audio mm| 1:2 — 2015-01-23 | 161U-X12F LLO66E

~ iy =GN GFTE



